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General Instructions:
ATy fader

1.There are 5 questions in total

FASTRART
2. All questions are compuisory

ER D CIDE

3. The marks of each question are written against them

Wmaémmm%@@%

Q.1 Write an essay of 200 words on any of the following topics: 20 Marks

@ & ¥ 5l ve vy g7 200 o) &1 oy g

a)

The Implementation of Bullet Trains in India: Prospects and Challenges

¥R & FoiT oAl F Frdleadel: FHEan AR geAfaar

b) How the Indian Railway System Connects the Country
R {dd UOTell &2 &I Hd sl &
c) High-Speed Rail in India: Challenges and thure Prospects
XA & gre-Eds Yo gAtfaar AR sfasg i Feraane
d) The Role of Artificial Intelligence and Automation in Indian Railways
R o A HiefRe gefasta 3R siferre $r sy
e) The Importance of Education for India's Development
9T & g & faw fRwer &1 Jga
Q.2 Write full form of the following: 15 Marks
forrfartea &1 qof v farfae
[ a) NCERT f) DGCA k) IRCTC
b) PMAY g) IRDAI : | 1) FSSAI
c) CRPF h) RPF m) NPCI
d) BARC i) TRAI n) FICCI
e)SSC j) ECI 0) CSIR

Q.3 Write answers in one word. 30 marks
I UF e A forg

a)

b)

c)

e)

What is the name of India's deep-sea mission for ocean exploration?

HETHRR 3907 & AU $R & 7Y §Ag BT &7 A9 47 &2

Which railway station became India’s first to be powered entirely by renewable energy?

FIe 6 {d WA G TWE F ANONT Foll GART FATAST @1F AT HRA HT U YT T2 qoT
rar?

What is the name of the Indian chip-making initiative to boost semiconductor production?

HHIFsFT IcUEA N qIEr & & AT SR Rg gemy 1 ggw F A 2w 22

Which is the first Indian state to implement a "Green Hydrogen Policy"?

"FRA FIEgISe A" S FA AT GEA HRART W FeT |7 2

What is the name of India’s first Al-powered chatbot for railways?



f)

a)

m)

n)

0)

o & v oA & 9w Al-dwifda Seate @ anr o 32

Which state is leading in renewable energy production in India?

AT W # TfHONT Fat searger & @l a1 s anroh B

Who is the current Chief of Defence Staff (CDS) of India (2024)?

HRA & TR Aw e Rbsa wers (dérew) (2024) @t 32

Which Indian city was recently declared the first "UNESCO City of Literature"?

FT & & W SR opT &) ggen " R site et e frar sy
Which Indian state has the distinction of being the only state in India to have a floating post office?
mmmﬁwﬁ%wmmmﬂwwmmmmm
Which scheme aims to provide tap water to every household in India?

8 ST &7 8T HRT H g O H F7T &7 UTelY IYTY HAT 2

What is the name of India's first bullet train corridor?

SR & U Jolc 3 HINSK & FqT ATH §7?

Which initiative was launched to modernize 1,275 railway stations in India?
mmzmmmwamm;mmmmw@rww
What is the name of the Indian spacecraft that will study the Sun? _

3T SR HARET ATl HT AT AH § SN GT F HETTT FIM?

Which organization is implementing India's Central Bank Digital Currency (CBDC)?

et BT HeTaet TR 1 Hg ol 3 f3fSree 4 (CBDC) T A & T 82

What is the name of the app launched by the Government of India for public grievance redressal?

mwmmmm%mﬁﬁrﬁwmﬁqwmwm

Q.4 Write a letter to the office of Chief Medical Officer (CMO) of your dlstnct for strengthening public healthcare facilities

in rural areas near your hometown. 20 Marks

thﬁnmm#mmwmawmtmmmtw
e sfesd (@ivast) FateT & F 97 fd)

Q.5 Solve the following. 15 Marks

fafaf@asrga &Y

a)

b)

c)

e)

A shopkeeper gains 20% on selling an item for X720. Find the cost price.
UF GHCH H UF a&g 720 H d°a T 20% HT A EIAT & ARG Hed A HSC

A mixture contains milk and water in the ratio of 3:2. If 10 liters of milk are added, the new ratio becomes 5:2.

Find the original quantity of milk.

e AT 7 g8 3R aTell &1 3euTe 3:2 81 4 10 aﬁuag:fﬁmﬁmmva’mmms 2 QST R | g A

Hel AT A1 HIS.
The average of 5 numbers is 20. If one number is removed and the new average becomes 18, find the removed

number

5mwmzoﬁlmwmmammmsﬂHH18ﬁm ar geTs I WG
Aa FfFT

A shopkeeper marks an item at X500 and gives a discount of 20%. Find the seliing price.
U GHEACH Ud awq 9 T500 3Hfhd var & 3 20% A ge & & m’f’”mm"‘d f
peed 0

If A cyclist travels 120 km in 6 hours against the wind and 150 km in 5 hours with the wind. What is the s

the wind?

fe TS T AT & e 6 2 3 120 R 31 g s Ryl 5 6 a 150 Ry B AT e 81 E

- FrafaFarge



